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1 s]lGb|o ;/sf/ ;zt{ cg'bfg 188,400,000 1 s]lGb|o ;/sf/ ;zt{ cg'bfg 188,400,000

2 s]lGb|o ;/sf/ ljlQo ;dflgs/)f cg'bfg 106,500,000 2 k|b]z ;/sf/ ;zt{ cg'bfg 7,500,000

3 s]lGb|o ;/sf/ /fhZj jf+*kmf+* 78,447,000 3 k|zf;lgs vr{ rfn' 56,231,000

4 k|b]z ;/sf/ ;zt{ cg'bfg 7,500,000 4 k|zf;lgs vr{ k"hLut 13,000,000

5 k|b]z ;/sf/ ljlQo ;dflgs/)f cg'bfg  4,316,000 5 s[lif zfvfsf] sfo{qmd 6,000,000

6 k|b]z ;/sf/ /fhZj jf+*kmf+* 5,518,000 6 kz';]jf zfvfsf] sfo{qmd 5,000,000

7 cfGtl/s >f]t 5,000,000 7 gu/ of]hgf tyf sfo{qmd 94,550,000

8
cf=j=2074.075 df vr{ geO{ af+sL 

gub df}Hbft
15,000,000 8 j*f of]hgf tyf sfo{qmd 40,000,000

9
h]i& gful/s lb#{ ;]jf ;Ddfg tyf 

;fdflhs ;'/Iff sfo{qmd
75,000,000 9

h]i& gful/s lb#{ ;]jf ;Ddfg 

tyf ;fdflhs ;'/Iff sfo{qmd
75,000,000

10 ul/j;+u ljZj]Zj/ sfo{qmd 900,000 10 ul/j;+u ljZj]Zj/ sfo{qmd 900,000

11
:yfgLo zf;g tyf ;fd'bflos ljsf; 

sfo{qmd
1,100,000 11

:yfgLo zf;g tyf ;fd'bflos 

ljsf; sfo{qmd
1,100,000

12 ;*s af]*{ g]kfn 3,000,000 12 ;*s af]*{ g]kfn 3,000,000

490,681,000 490,681,000s'n hDdf s'n hDdf

e'ldsf:yfg gu/kflnsf
gu/ sfo{kflnsfsf] sfof{no

g'jfsf]^, c#f{vf+rL
5 g+= k|b]z, g]kfn

cf=j=2075.076 sf] aflif{s ah]^ ljj/)f

cfo Joo


